
https://www.geekcert.com/1y0-311.html
2024 Latest geekcert 1Y0-311 PDF and VCE dumps Download

 

 

 

1Y0-311Q&As

Citrix XenApp and XenDesktop 7.15 LTSR Advanced Administration

Pass Citrix 1Y0-311 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1y0-311.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Citrix
Official Exam Center

 

 

Latest 1Y0-311 Dumps | 1Y0-311 VCE Dumps | 1Y0-311 Exam Questions                                1 / 4

https://www.geekcert.com/1y0-311.html
https://www.geekcert.com/1y0-311.html
https://www.geekcert.com/1y0-311.html


https://www.geekcert.com/1y0-311.html
2024 Latest geekcert 1Y0-311 PDF and VCE dumps Download

QUESTION 1

Which three benefits can a Citrix Engineer achieve by using the robocopy command to replicate vDisk files between
storage locations? (Choose three.) 

A. It tolerates network disruptions during file transfer and continues copying after network is restored. 

B. It is able to replicate files to multiple concurrent Stores using a "hub and spoke" model. 

C. It preserves vDisk file time stamps. 

D. It can be included in a script to automate replication at scheduled times. 

E. It can be configured to use a limited amount of bandwidth for each file copy. 

Correct Answer: BCD 

 

QUESTION 2

Scenario: 

A Citrix Engineer is managing a XenApp and XenDesktop environment that has been built with the 

following site architecture: 

-Site A was created in datacenter 

-Site B was created in datacenter 

-A Citrix Gateway is set up in each datacenter. Each Gateway has access to both Sites. 

-The StoreFront server group in each Site is configured to enumerate resources from both Sites. 

-Application A is available in Site A only. 

-Optimal Gateway Routing has NOT been configured. 

A user located near datacenter B logs in through Citrix and attempts to launch Application A. 

Which behavior is expected in this scenario? 

A. Resource enumeration and the HDX connection are established using Gateway A. 

B. Resource enumeration occurs through Gateway A; the HDX connection is established using Gateway B 

C. Resource enumeration occurs through Gateway B; the HDX is established using Gateway A 

D. Resource enumeration and the HDX connection are established using Gateway B 

Correct Answer: C 
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QUESTION 3

Scenario: A Citrix Engineer is deploying a Workspace Environment Management (WEM) in their existing company
infrastructure. As part of the deployment, the Agent Host is being deployed and configured on the required virtual
machines (VMs). The engineer will use the Agent Host .adm and .admx templates to apply the settings. 

Which three Agent Host settings can the engineer set using the administrative templates? (Choose three.) 

A. Agent anti-virus exclusions 

B. Agent Event Log Path 

C. Site Name 

D. Agent Port 

E. Connection Broker Name 

Correct Answer: CDE 

Reference: https://docs.citrix.com/en-us/workspace-environment-management/4-2/install-and-configure/agenthost.html 

 

QUESTION 4

Which three tasks can a Device Administrator, but NOT a Device Operator, perform? (Choose three.) 

A. View vDisk properties. 

B. Edit target device properties. 

C. Assign and remove vDisks from a device. 

D. Perform power management actions on target devices. 

E. Send messages to target devices. 

Correct Answer: BCE 

Explanation: These tasks include viewing vDisk properties (read-only) and assigning or removing vDisks from a device.
They also include booting or shutting down target devices, editing device properties, and sending messages to target
devices within a device collection to which they have privileges. Reference: https://docs.citrix.com/en-
us/provisioning/current-release/architecture/admin-overview.html 

 

QUESTION 5

Scenario: A Citrix Engineer is managing an existing Provisioning Services deployment in a single 

datacenter. The engineer needs to deploy Provisioning Services in a second datacenter, which is located 

on another continent. The link between the two datacenters experiences high latency. 

The engineer first needs to create a new _______ in the second datacenter. 

Latest 1Y0-311 Dumps | 1Y0-311 VCE Dumps | 1Y0-311 Exam Questions                                3 / 4

https://www.geekcert.com/1y0-311.html
https://www.geekcert.com/1y0-311.html
https://www.geekcert.com/1y0-311.html


https://www.geekcert.com/1y0-311.html
2024 Latest geekcert 1Y0-311 PDF and VCE dumps Download

(Choose the correct option to complete the sentence.) 

A. Site 

B. Farm 

C. Device collection 

D. Store 

Correct Answer: A 
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